Volume 3 Issue 2 October 2012

The MINDANAWAN Journal of Mathematics

ISSN 2094-7380

Equi-integrability in the Harnack Extension Ferdinand P. Jamil, Julius V. Benitez
On Integration-by-parts and the Itô Formula for Backwards Itô Integral Jayrold P. Arcede, Emmanuel A. Cabral
On the AB-Generalized Lucas Sequence by Hessenberg Permanents and Determinants Mhelmar A. Labendia, Michael B. Frondoza
General Adaptive Sparse-PCA for High Dimensional Data with Low Sample Size Mark Gil T. Torres
Effects of Technological Gadgets Utilization in Teaching College Algebra Patrick G. Galleto, Craig N. Refugio
Equi-integrability in the Monotone and the Dominated Convergence Theorems for the McShane Integral Julius V. Benitez
The Average of the mth Power of the L_m -norms of Littlewood Polynomials on the Unit Circle Braullo D. Peñalosa, Jocelyn P. Vilela
Martin-Bradley Model: Discriminate Academic Performance Based on the Self-Concept of Freshmen Engineering Luis Arlantico Tattao
Exploring The Application and Effects of TI 84 Plus on Students Skills In Mathematical Computation Patrick G. Galleto, Craig N. Refugio
The Exact Gossiping Problem for $k \ge 8$ Messages less Claire R. Sanchez, Shaira Kim I. Ceballo, 240.

The Average of the mth Power of the L_m -norms of Littlewood Polynomials on the Unit Circle

Braullo D. Peñalosa^a, Jocelyn P. Vilela^b

^aDepartment of Mathematics, College of Arts and Sciences, Central Mindanao University, Musuan, Bukidnon ^bDepartment of Mathematics, College of Science and Mathematics, MSU-Iligan Institute of Technology, Tibanga, Iligan City

Abstract: Let $n \ge 0$ be any integer and

$$\mathfrak{L}_n = \left\{ P : P(z) = \sum_{j=0}^n a_j z^j, a_j \in \{1, -1\} \right\}$$

be a set of polynomials of degree n. The elements of the set \mathfrak{L}_n are restricted polynomials called Littlewood polynomial. If $P \in \mathfrak{L}_n$, then the L_m -norm of P over the unit circle is

$$||P(z)||_m = \left(\frac{1}{2\pi} \int_0^{2\pi} |P(z)|^m d\theta\right)^{\frac{1}{m}}, \quad (z = e^{i\theta})$$

and the average of the mth power of the L_m -norms over \mathfrak{L}_n is

$$\mu_n(m) = \frac{1}{2^{n+1}} \sum_{P \in \mathfrak{L}_n} ||P||_m^m.$$

The formulae for $\mu_n(m)$ for m=2, 4, 6, and 8 have been established in the literature by Borwein and Choi in their paper entitled "The Average Norm of Polynomials of Fixed Height".

In this paper we give exact formulae for $\mu_n(m)$ for m = 10. This result is new and is the tip of an iceberg that we explore further.

1 Introduction

Questions and results about polynomials with restricted coefficients has been given much attention in recent years. Among the well-known and well-studied polynomials are the Newmann polynomials [13], the Littlewood polynomials [4, 5, 8], and the fixed height one polynomials [3, 12]. Some authors like Peter Borwein and Kwok-Kwong Stephen Choi [3] give a variety of related results for different classes of polynomials including polynomials of fixed height H, polynomials with coefficients of modulus one, derivative polynomials and reciprocal polynomials.

Problems concerning the location and multiplicity of zeros of polynomials with restricted coefficients, some of the approximation theoretic properties of such polynomials, on the maximum and minimum norms of such polynomials, and finding the average norm of such polynomials are only few questions in literature that arose in the above mention polynomials.

The results in [3] which deals with the average norm of Littlewood polynomials are already established in 2005 by Toufik Mansour [12]. His proof and techniques, without doubt are significantly more complicated and requires a considerable foundation in the area of generating functions and knowledge in using the MAPLE program explicitly. With the aid of MAPLE software, it was then that the results in [12] were implemented and produced a lot of outputs.

However, the exact formula for the average norm of Littlewood polynomials are provided with proof in an entirely different approach in [3] in an article entitled "The Average Norm of Polynomials of Fixed Height". This paper then enumerates the results in [3] which determines the average of the mth power of the L_m -norms of Littlewood polynomials for an even integer m where $2 \le m \le 8$. Furthermore,

the author extended this study to the case m = 10.

2 Preliminary Concepts and Known Results

Definition 2.1 [3] Let $n \geq 0$ be any integer. A polynomial $P(z) = \sum_{j=0}^{n} a_j z^j$, where $a_j \in \{1, -1\}$, is a restricted polynomial called Littlewood polynomial.

The results obtain about Littlewood polynomials by Mansour [12] presented below are provided with algebraic proofs by Borwein and Choi [3]. These results are so critical that we need them to enumerate in this section. We also enumerate all lemmas in [3] for these are badly needed for the proof of the main result. They are the following.

Lemma 2.2 For $m \neq 0$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{S}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 z^m \ d\theta = 0.$$

Lemma 2.3 For an integer $m \ge 1$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 z^m P'(z)^2 d\theta = 0.$$

Lemma 2.4 For an integer $m \geq 0$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{T}_n} \frac{1}{2\pi} \int_0^{2\pi} z^{2m} P'(\overline{z})^2 d\theta = \begin{cases} 1 & \text{if } m \le n, \\ 0 & \text{if } m > n. \end{cases}$$

Lemma 2.5 For an integer $m \ge 1$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} z^{2m} |P'(z)|^4 d\theta = \begin{cases} n - m + 1 & \text{if } m \le n, \\ 0 & \text{if } m > n. \end{cases}$$

Lemma 2.6 For an integer $m \ge 1$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^4 z^{2m} P'(z)^2 d\theta$$

$$= \begin{cases} \frac{3}{2} (n-m)^2 + \frac{7}{2} (n-m) + \frac{3-(-1)^{m+n}}{2} & \text{if } m \le n, \\ 0 & \text{if } m > n. \end{cases}$$

The following result are called the average of the second, fourth, sixth, and eighth power of the norms of Littlewood polynomials on the unit circle, respectively.

Theorem 2.7 For $n \geq 0$, we have

$$\mu_n(2) = n+1,$$

$$\mu_n(4) = 2n^2 + 3n + 1,$$

$$\mu_n(6) = 6n^3 + 9n^2 + 4n + 1, \text{ and}$$

$$\mu_n(8) = 24n^4 + 30n^3 + 4n^2 + 5n + 4 - 3(-1)^n.$$

3 Main Results

The formula for $\mu_n(10)$ is somewhat more complicated. We proceed as follows.

Lemma 3.1 For $m \in \mathbb{Z}$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 z^m \ d\theta = \begin{cases} 0 & \text{if } m \neq 0, \\ n+1 & \text{if } m = 0. \end{cases}$$

Proof: The case when $m \neq 0$ is the same as Lemma 2.2. Suppose m = 0. We prove this case by induction on n. When n = 0, we have

$$\frac{1}{2^{0+1}} \sum_{P' \in \mathfrak{L}_0} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 z^0 d\theta = \frac{1}{2\pi} \int_0^{2\pi} d\theta = 1.$$

Now, by writing every polynomial in \mathfrak{L}_n as $zP(z) \pm 1$ for some $P \in \mathfrak{L}_{n-1}$ and using the induction assumption, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 d\theta$$

$$= \frac{1}{2^{n+1}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} (|zP(z) + 1|^2 + |zP(z) - 1|^2) d\theta$$

$$= \frac{1}{2^{n+1}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} (2|P(z)|^2 + 2) d\theta$$

$$= \frac{1}{2^n} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} |P(z)|^2 d\theta + \frac{1}{2^n} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} d\theta$$

$$= n + 1.$$

Lemma 3.2 For an integer $m \geq 1$, we have

$$\sum_{P' \in \mathfrak{L}_n} \int_0^{2\pi} |P'(z)|^2 z^m P'(z)^4 d\theta = 0.$$

Proof: We prove this result by induction on n. When n = 0, we have

$$\sum_{P' \in \mathfrak{L}_0} \int_0^{2\pi} |P'(z)|^2 z^m P'(z)^4 d\theta = 2 \int_0^{2\pi} z^m d\theta = 0,$$

because $\int_0^{2\pi} z^m d\theta = 0$ when $m \neq 0$. Now, by writing every polynomial in \mathfrak{L}_n as $zP(z) \pm 1$ for some $P \in \mathfrak{L}_{n-1}$ and using the induction assumption, we have

$$\sum_{P' \in \mathfrak{L}_{k+1}} \int_{0}^{2\pi} |P'(z)|^{2} z^{m} P'(z)^{4} d\theta$$

$$= \sum_{P \in \mathfrak{L}_{k}} \int_{0}^{2\pi} z^{m} \left[|zP(z) + 1|^{2} (zP(z) + 1)^{4} + |zP(z) - 1|^{2} (zP(z) - 1)^{4} \right] d\theta.$$

We expand the integrand out and after some simple cancellation we get that the above expression is

$$\begin{split} \sum_{P \in \mathfrak{L}_k} \int_0^{2\pi} \left[2 \, |zP(z)|^2 \, z^{m+4} P(z)^4 + 20 \, |zP(z)|^2 \, z^{m+2} P(z)^2 \right. \\ &+ 10 \, |zP(z)|^2 \, z^m + 2 z^m (5 z^4 P(z)^4 + 10 z^2 P(z)^2 + 2) \right] \, d\theta \\ &= \sum_{P \in \mathfrak{L}_k} \int_0^{2\pi} 2 \, |zP(z)|^2 \, z^{m+4} P(z)^4 \, d\theta \\ &+ \sum_{P \in \mathfrak{L}_k} \int_0^{2\pi} 20 \, |zP(z)|^2 \, z^{m+2} P(z)^2 \, d\theta \\ &+ \sum_{P \in \mathfrak{L}_k} \int_0^{2\pi} 10 \, |zP(z)|^2 \, z^m \, d\theta \end{split}$$

because $2z^m(5z^4P(z)^4+10z^2P(z)^2+2)$ is a polynomial with zero constant term in z.

Now the above integrals are equal to zero by Lemmas 2.2, 2.3 and the induction assumption.

Lemma 3.3 For $P' \in \mathfrak{L}_n$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 P'(\overline{z})^2 d\theta = 3n + 1.$$

Proof: We write every polynomial in \mathfrak{L}_n as $zP(z) \pm 1$ for some $P \in \mathfrak{L}_{n-1}$. Note that $\int_0^{2\pi} z^m d\theta = 0$ for $m \neq 0$. Now, using Lemmas 2.2 and 2.3, we have

$$\begin{split} \frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 P'(\overline{z})^2 \ d\theta \\ &= \frac{1}{2^{n+1}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} \left[|zP(z)+1|^2 (\overline{z}P(\overline{z})+1)^2 \right. \\ &\quad + |zP(z)-1|^2 (\overline{z}P(\overline{z})-1)^2 \right] d\theta \\ &= \frac{1}{2^n} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} \left[|P(z)|^2 z^{-2} P(\overline{z})^2 + 3 |P(z)|^2 \right. \\ &\quad + 3z^{-2} P(\overline{z})^2 + 1 \right] \ d\theta \\ &= \frac{1}{2^n} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} |P(z)|^2 z^{-2} P(\overline{z})^2 \ d\theta \\ &\quad + \frac{1}{2^n} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} 3 |P(z)|^2 \ d\theta \\ &\quad + \frac{1}{2^n} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} 3z^{-2} P(\overline{z})^2 \ d\theta \\ &\quad + \frac{1}{2^n} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} d\theta \\ &= 0 + 3n + 3(0) + 1 \\ &= 3n + 1. \end{split}$$

Lemma 3.4 For an integer m > 0, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^2 z^{2m} P'(\overline{z})^2 d\theta = \begin{cases} 3n+1 & \text{if } m \le n, \\ 0 & \text{if } m > n. \end{cases} (22)$$

Proof: Let $F_n(m)$ be the left hand side of Equation (22). By writing every polynomial in \mathfrak{L}_n as $zP(z) \pm 1$, for some $P(z) \in \mathfrak{L}_{n-1}$, and using Lemma 3.1, and since $\overline{z} = z^{-1}$ and $\int_0^{2\pi} z^m d\theta = 0$ for $m \neq 0$, we have

$$F_{n}(m) = \frac{1}{2^{n+1}} \sum_{P \in \mathfrak{L}_{n}} \frac{1}{2\pi} \int_{0}^{2\pi} z^{2m} \left[|zP(z) + 1|^{2} (\overline{z}P(\overline{z}) + 1)^{2} + |zP(z) - 1|^{2} (\overline{z}P(\overline{z}) - 1)^{2} \right] d\theta$$

$$= \frac{1}{2^{n}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_{0}^{2\pi} z^{2m} \left[|zP(z)|^{2} \overline{z}^{2} P(\overline{z})^{2} + 3 |zP(z)|^{2} + 3 \overline{z}^{2} P(\overline{z})^{2} + 1 \right] d\theta$$

$$= \frac{1}{2^{n}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_{0}^{2\pi} |P(z)|^{2} z^{2(m-1)} P(\overline{z})^{2} d\theta$$

$$+ \frac{1}{2^{n}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_{0}^{2\pi} 3 |P(z)|^{2} z^{2m} d\theta$$

$$+ \frac{1}{2^{n}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_{0}^{2\pi} 3 z^{2(m-1)} P(\overline{z})^{2} d\theta$$

$$+ \frac{1}{2^{n}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_{0}^{2\pi} z^{2m} d\theta$$

Volume 3 Issue 2 October 2012

$$= \frac{1}{2^{n}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_{0}^{2\pi} |P(z)|^{2} z^{2(m-1)} P(\overline{z})^{2} d\theta + 0$$

$$+ \frac{1}{2^{n}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_{0}^{2\pi} 3z^{2(m-1)} P(\overline{z})^{2} d\theta + 0$$

$$= F_{n-1}(m-1) + 3C_{n-1}(m-1),$$

where

$$C_n(m) := \frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} z^{2m} P'(\overline{z})^2 d\theta = \begin{cases} 1 & \text{if } m \le n, \\ 0 & \text{if } m > n, \end{cases}$$

by Lemma 2.4. Clearly,

$$F_0(0) = 1$$
 and $F_0(m) = \int_0^{2\pi} z^{2m} d\theta = 0$ for $m \ge 1$.

For n > 1, we have

$$F_n(m) = F_{n-1}(m-1) + 3C_{n-1}(m-1).$$

If m > n, then $C_{n-1}(m-1) = 0$ and hence

$$F_n(m) = F_{n-1}(m-1) = \dots = F_1(m-n+1) = F_0(m-n) = 0.$$

If m < n, then

$$F_{n}(m) = F_{n-1}(m-1) + 3C_{n-1}(m-1)$$

$$= F_{n-2}(m-2) + 3C_{n-2}(m-2) + 3C_{n-1}(m-1)$$

$$= F_{n-3}(m-3) + 3C_{n-3}(m-3) + 3C_{n-2}(m-2)$$

$$+3C_{n-1}(m-1)$$

$$\vdots$$

$$= F_{n-m+1}(1) + 3C_{n-m+1}(1) + 3C_{n-m+2}(2) + \dots$$

$$+3C_{n-3}(m-3) + 3C_{n-2}(m-2) + 3C_{n-1}(m-1)$$

$$= F_{n-m}(0) + 3C_{n-m}(0) + 3C_{n-m+1}(1) + 3C_{n-m+2}(2) + \dots + 3C_{n-3}(m-3) + 3C_{n-2}(m-2) + 3C_{n-1}(m-1)$$

$$= F_{n-m}(0) + 3\left(\underbrace{1+1+\dots+1}_{m \text{ times}}\right)$$

$$= F_{n-m}(0) + 3m$$

$$= [3(n-m)+1] + 3m$$

$$= 3n+1.$$

Lemma 3.5 For an integer $m \ge 1$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^6 z^{2m} d\theta$$

$$= \begin{cases} \frac{9}{2} (n-m)^2 + \frac{15}{2} (n-m) \\ +\frac{3}{2} (n-m)(3n+3m-1) + 9m-3 & if m \le n \\ 0 & if m > n. \end{cases}$$

Proof: Let

$$D_n(m) := \frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{C}} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^6 z^{2m} d\theta.$$

Then

$$D_n(m) = \frac{1}{2^{n+1}} \sum_{P \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} (|zP(z) + 1|^6 + |zP(z) - 1|^6) z^{2m} d\theta.$$

We expand the integrand out and use Lemmas 2.5, 2.4, and 3.4. We derived that for $n, m \ge 1$,

$$D_n(m) = D_{n-1}(m) + 9B_{n-1}(m) + 3C_{n-1}(m-1) + 3F_{n-1}(m-1).$$

Volume 3 Issue 2 October 2012

It is clear that $D_0(m) = 0$. Thus if $m > n \ge 1$, then $B_{n-1}(m)$, $C_{n-1}(m-1)$, and $F_{n-1}(m-1)$ are all equal to zero and hence

$$D_{n}(m) = D_{n-1}(m) = D_{n-2}(m) = \dots = D_{0}(m) = 0.$$
If $1 \le m \le n$, then
$$D_{n}(m) = D_{n-1}(m) + 9B_{n-1}(m) + 3C_{n-1}(m-1) + 3F_{n-1}(m-1)$$

$$= D_{n-2}(m) + 9B_{n-2}(m) + 9B_{n-1}(m) + 3C_{n-2}(m-1) + 3C_{n-1}(m-1) + 3F_{n-2}(m-1) + 3F_{n-1}(m-1)$$

$$\vdots$$

$$= D_{m}(m) + 9B_{m}(m) + 9B_{m+1}(m) + \dots + 9B_{n-1}(m) + 3C_{m}(m-1) + 3C_{m+1}(m-1) + \dots + 3C_{n-1}(m-1) + 3F_{m}(m-1) + \dots + 3F_{n-1}(m-1)$$

$$= (9m-3) + 9\sum_{j=m}^{n-1} B_{j}(m) + 3\sum_{j=m}^{n-1} C_{j}(m-1)$$

$$+ 3\sum_{j=m}^{n-1} F_{j}(m-1)$$

$$= (9m-3) + 9\sum_{j=m}^{n-1} (j-m+1) + 3\sum_{j=m}^{n-1} 1 + 3\sum_{j=m}^{n-1} (3j+1)$$

$$= (9m-3) + 9\left[\frac{1}{2}(n-m)^{2} + \frac{1}{2}(n-m)\right]$$

 $+3(n-m) + \frac{3}{2}(n-m)(3n+3m-1)$

$$= \frac{9}{2}(n-m)^2 + \frac{15}{2}(n-m) + \frac{3}{2}(n-m)(3n+3m-1) + 9m-3.$$

Lemma 3.6 For an integer $m \geq 1$, we have

$$\frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^6 z^{2m} P'(z)^2 d\theta$$

$$\begin{cases}
\frac{15}{4} (n-m)^3 + \frac{75}{8} (n-m)^2 + \frac{21}{4} (n-m) \\
+ \frac{5}{8} (9n+3m-2)(n-m) \\
+ \frac{15}{4} (5n+m-6)(n-m)(n-m+2) \\
+ \frac{15}{2} (n+m) - 7 & if \ n+m \equiv 0 \pmod{2} \\
and \ m \leq n
\end{cases}$$

$$= \begin{cases}
\frac{15}{4} (n-m)^3 + \frac{75}{8} (n-m)^2 + \frac{51}{4} (n-m) \\
+ \frac{5}{8} (n-m-1)(9n+3m+1) \\
+ \frac{15}{4} (n-m-1) \\
(5n^2 - 4nm + 9n - m^2 + 9m - 12) \\
+ \frac{105}{2} (n+m) - \frac{563}{8} & if \ n+m \equiv 1 \pmod{2} \\
and \ m \leq n,
\end{cases}$$

$$0 \qquad if \ m > n.$$

Proof: Let

$$E_n(m) := \frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^6 z^{2m} P'(z)^2 d\theta.$$

Volume 3 Issue 2 October 2012

Then

$$E_n(m) = \frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_{n-1}} \frac{1}{2\pi} \int_0^{2\pi} z^{2m} \left\{ |zP(z) + 1|^6 (zP(z) + 1)^2 + |zP(z) - 1|^6 (zP(z) - 1)^2 \right\} d\theta.$$

We expand the integrand out and use Lemmas 2.4, 2.5, 3.4 and 3.5. We derived that for $n, m \ge 1$,

$$E_n(m) = E_{n-1}(m+1) + 10D_{n-1}(m) + 15A_{n-1}(m+1) + 30B_{n-1}(m) + 5F_{n-1}(m-1) + 3C_{n-1}(m-1),$$

where

$$A_n(m) := \frac{1}{2^{n+1}} \sum_{P' \in \mathfrak{L}_n} \frac{1}{2\pi} \int_0^{2\pi} |P'(z)|^4 z^{2m} P'(z)^2 d\theta$$

$$= \begin{cases} \frac{3}{2} (n-m)^2 + \frac{7}{2} (n-m) + \frac{3-(-1)^{m+n}}{2} & \text{if } m \le n, \\ 0 & \text{if } m > n. \end{cases}$$

by Lemma 2.6. It is clear that $E_0(m) = 0$. Thus if $m > n \ge 1$, then

$$D_{n-1}(m) = A_{n-1}(m+1) = B_{n-1}(m)$$

= $F_{n-1}(m-1) = C_{n-1}(m-1) = 0$

and hence

$$E_n(m) = E_{n-1}(m+1) = E_{n-2}(m+2) = \cdots$$

= $E_1(m+n-1) = E_0(m+n) = 0.$

Suppose $1 \le m \le n$. If $n + m \equiv 0 \pmod{2}$, then

$$E_{n}(m)$$

$$= E_{\frac{n+m}{2}}\left(\frac{n+m}{2}\right) + 10\left[D_{n-1}(m) + D_{n-2}(m+1) + D_{n-3}(m+2) + \dots + D_{\frac{n+m}{2}}\left(\frac{n+m}{2}-1\right)\right]$$

$$+15\left[A_{n-1}(m+1) + A_{n-2}(m+2) + \dots + A_{\frac{n+m}{2}}\left(\frac{n+m}{2}\right)\right]$$

$$+30\left[B_{n-1}(m) + B_{n-2}(m+1) + \dots + B_{\frac{n+m}{2}}\left(\frac{n+m}{2}-1\right)\right]$$

$$+5\left[F_{n-1}(m-1) + F_{n-2}(m) + \dots + F_{\frac{n+m}{2}}\left(\frac{n+m}{2}-2\right)\right]$$

$$+3\left[C_{n-1}(m-1) + C_{n-2}(m) + \dots + C_{\frac{n+m}{2}}\left(\frac{n+m}{2}-2\right)\right].$$

Using Lemmas 2.4, 2.5, 2.6, 3.4 and 3.5, we see that

$$E_{n}(m)$$

$$= \frac{15}{2}(n+m) - 7 + 10 \left[\frac{3}{8} (5n+m-6) (n-m)(n-m+2) \right]$$

$$+15 \left[\frac{1}{4}(n-m)^{3} + \frac{1}{8}(n-m)^{2} - \frac{3}{4}(n-m) \right]$$

$$+30 \left[\frac{(n-m)^{2}}{4} + \frac{n-m}{2} \right]$$

$$+5 \left[\frac{1}{8} (9n+3m-2) (n-m) \right] + \frac{3}{2}(n-m)$$

$$= \frac{15}{4}(n-m)^{3} + \frac{75}{8}(n-m)^{2} + \frac{21}{4}(n-m)$$

$$+ \frac{5}{8}(9n+3m-2)(n-m)$$

$$+ \frac{15}{4}(5n+m-6)(n-m)(n-m+2)$$

$$+ \frac{15}{2}(n+m) - 7.$$

The case $n + m \equiv 1 \pmod{2}$ can be proved in the same way.

In particular, $E_0(1) = 0$ and for $n \ge 1$

$$E_n(1) = \frac{45}{2}n^3 - 15n^2 - 11n + \frac{19}{2} + \frac{1}{2}(-1)^n(15n - 19).(23)$$

We now come to the proof of $\mu_n(10)$. Since

$$|zP(z) + 1|^{10} + |zP(z) - 1|^{10}$$

$$= 2|zP(z)|^{10} + 50|zP(z)|^{8} + 200|zP(z)|^{6} + 200|zP(z)|^{4}$$

$$+50|zP(z)|^{2} + 2 + 20|zP(z)|^{6}(z^{2}P(z)^{2} + \overline{z}^{2}P(\overline{z})^{2})$$

$$+100|zP(z)|^{4}(z^{2}P(z)^{2} + \overline{z}^{2}P(\overline{z})^{2})$$

$$+100|zP(z)|^{2}(z^{2}P(z)^{2} + \overline{z}^{2}P(\overline{z})^{2})$$

$$+10|zP(z)|^{2}(z^{4}P(z)^{4} + \overline{z}^{4}P(\overline{z})^{4})$$

$$+10(z^{4}P(z)^{4} + \overline{z}^{4}P(\overline{z})^{4}) + 20(z^{2}P(z)^{2} + \overline{z}^{2}P(\overline{z})^{2}),$$

it follows from Lemmas 2.6, 3.6 and (23) that

$$\mu_n(10) = \mu_{n-1}(10) + 25\mu_{n-1}(8) + 100\mu_{n-1}(6) +100\mu_{n-1}(4) + 25\mu_{n-1}(2) + 1 + 20E_{n-1}(1) +100A_{n-1}(1).$$

In view of Theorem 2.7 and (23), we have

$$\mu_n(10)$$

$$= \mu_{n-1}(10) + 25(24n^4 - 66n^3 + 58n^2 - 9n - 3 + 3(-1)^n) +100(6n^3 - 9n^2 + 4n) + 100(2n^2 - n) + 25n + 1 +20 \left[\frac{45}{2}n^3 - \frac{165}{2}n^2 + \frac{173}{2}n - 17 - \frac{1}{2}(-1)^n (15n - 34) \right] +100 \left[\frac{3}{2}(n-2)^2 + \frac{7}{2}(n-2) + \frac{3 - (-1)^n}{2} \right] = 120n^5 + 150n^4 - 350n^3 + 265n^2 +281n - 144 - 5(-1)^n (15n - 29).$$

Thus we have proved

Theorem 3.7 For any integer $n \geq 0$,

$$\mu_n(10) = 120n^5 + 150n^4 - 350n^3 + 265n^2 + 281n - 144 - 5(-1)^n (15n - 29).$$

References

- Aliprantis, A.D. and Burkinshaw, O.. Principles of Real Analysis. 3rd ed. Academic Press, San Diego, California, USA, 1998.
- [2] Brown, J.W. and Churchill R.V.. Complex Variables and Application. 6th ed. McGraw-Hill, Inc., New York, 1996.
- [3] Borwein, P.B. and K.-K.S. Choi. *The Average Norm of Polynomials of Fixed Height*. Trans. Amer. Math. Soc. 359(2007), no. 2, 923-936.
- [4] Borwein, P., Erdelyi, T. and Kos, G. Explicit Merit Factor Formulae for Fekete and Turyn polynomials. Trans. Amer. Math. Soc. 354 (2002), 219-234.
- [5] Boyd, D. W.. On a Problem of Byrnes Concerning Polynomials with Restricted Coefficients. Mathematics of Computations. Vol. 66, No. 220, October 1997, pp. 1697-1703.
- [6] Chong, C. C. and Meng, K. K.. Principles and Techniques in Combinatorics. Dept. of Mathematics, National University of Singapore. Copyright © 1992 by World Scientific Publishing Co. Pte. Ltd.

- [7] Debnath, L. and Mikusinski, P.. Introduction to Hilbert Spaces with Application. 2nd Edition
- [8] Erdelyi, T.. Polynomials with Littlewood-Type Coefficient Constraints. Approximation Theory X, Vanderbilt University Press, Nashville, TN.
- [9] Hungerford, T.W.. Algebra. Springer-Verlag New York Inc., 1974.
- [10] Lieb, E.H. and Loss, M. Analysis. 2nd Edition, Printed in the United States of America, 2001.
- [11] Littlewood, J.E.. Some Problems in Real and Complex Analysis, Heath Mathematical Monographs, Lexington, Massachusetts, 1968.
- [12] Mansour, T.. Average Norms of Polynomials. Adv. in Appl. Math. **32** (2004), no. 4, 698-708.
- [13] Mossinghoff, M.J.. Polynomials with Restricted Coefficients and Prescribed Noncyclotomic Factors. London Mathematical Society, to appear.
- [14] Royden, H.L.. *Real Analysis*. 3rd ed. Prentice Hall International, Inc., Singapore, 1988.
- [15] Rudin, W.. Real and Complex Analysis. 3rd ed. McGraw-Hill, Inc., New York, 1986.
- [16] The Department of Mathematics. Algebra and Trigonometry. MSU-Iligan Institute of Technology Iligan City, Philippines. 2002 Edition.
- [17] Vance, E.P.. Algebra and Trigonometry. 3rd ed. Oberlin College, Ohio, U.S.A.: Addison-Wesley, 1973.